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In the previous 97 we learned:

112 09w 12 171901 Man Sy pomd onw -

Ifa person Shechted the noo 1297 so that it should be eaten by
people who have a n°73, but intended the >t for people who
do not have a "1 - there is a DRTMR DPIOAD:

9109 IR RTOM 17 -

R’ Chisda holds it is S100.

TWI MR 72 -

Rabbah says it is 7w>.

The xm3 gave one explanation of the n,5m», and "W 29
questioned it.

This q7 begins with a second explanation:

7OOMP R IRAWNR 27 IR KON -

Rav Ashi explains that they disagree in how to Darshen the
Posuk:

PHY 995515 Ax -

which speaks about all Korbonos in general, and says that
177 achieves 1195 for the owner of the j29p. We Darshen
1930 5V R2 hY -

The 12797 would be %100 if 777t was done

5v1 7rwa - for somebody else.

m37 holds it is 509 only if

PTTRMITIVIAN -

The other person is like him - a 7793 92 - able to bring the same type

of j27p.

But it would be 7w> when doing 73 for an 57 who is nota 7793 72
like him, since he cannot bring a noo 129p.

x70M 27 holds that it is %109, because the 57 is considered a 7193 73,

WO PN "W RT NI -

Since he can geta 151 172 and be eligible to bring a noo 127p.

Even though X701 27 does not hold of the concept of »’Ri7 with
regard to a person cooking on 210 Dy for a weekday, where he does
not allow it based on

5 th DAMR YHPR R PRIN - that guests might come?

The Gemara answers that he does not rely on X5 »Ri7 - to be
lenient, but

5 R R - in order to be 1M, as in our case, he holds of »xin.
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RPI75 1 277 7772 RTON I 7D ION -

The xn»12 on the previous Daf said that just like we already 1395 9 399 7S N 0 D N
know AR NEp» is not 9109, so too 157 N3P is not Moo for 1 M

anoo 129y - therefore, if it is Shechted for a group that

contains both circumcised and uncircumcised people it is SINDYY nxp}o ﬁb‘lv .ﬂpr
0>, is NOT 9709 is NOT 9109
The nxmv nep» of the Rn»72 cannot be talking about

»12) RO - where part of the group of the 129 is XY, YNNI TN

because that 13571 is no more obvious than the 7357 about Part of the Part of the

59 nxp».

W3 NRMIVI ROR - the ARMIL NPH refers to where part of the GR)(%UP M‘E/AT

meat of the 1277 became XY and the rest of the 1277 is MV,
and we burn only the part that's X»v, and the rest of the
Korbon is qw>.

It’s no more
obvious thaw >
/o 24 =

The 8 asks two questions on this from the xn»71 itself and
gives two answers to each question:
First, the Xm0 asks that the Xn»72 goes on to say that the
IRV issue is

‘ N 922371 1R - does not apply to all mia7p, but nrBIL
w1 DOES apply to all miaap?

D't 593 3913 1N

DOES

Therefore, we must say that 0'nati 922 3m11R is referring to

7123 N - which means that We must say. .

TPMIAIP PRown RV Y DR 5o - ;

Regarding all Korbonos, they can send their Korbonos with DRt 592 M N TINDIO D3PH
others even though they will not be able to eat from them,

because the main purpose of the Korbon is 7795 not n5aR. NN DR
However, 32 w3
TPMII PRSWR PR RV DTV MOO1 - )
Regarding oo, they cannot send their Korbonos with others noo3a DN 03

BECAUSE they will not be able to eat from them, because
the main purpose of the Korbon is 722K not 7793.
7723 DRIV RO'DY TWA NRMIVA RW™?

N7 S5y
P2yp oA

Maine se Wain putpose
Y

. ) @b D>

wn
RPTY

Mishkan
Yecheskel

e

——

Dedicated By: DafHachaim.org Pesachim 62 -2




wn

mlaly =y glal-]

TIORP IRV OV - PN -

Ravina answers: Yes indeed,

ARML N3P is referring to w1 XMW, and

DN 522 M3 IR is referring to *323 DRV,

and they relate to each other because the Xxn»91is just
making the point that the general concept of kMW is
different by noo j127p than it is by other mi27p.

WA DRIV I RO RIR TPYINRI -

Another explanation is that

©na1n 932 31 R is also referring to wa nRm.

Because in a way w2 nxmv does not apply to all miaap as it
does to noo 129p.

In all Korbonos if of the 251 and 7w3, one of them became
RpO - if the other is M7, regardless of which one, we can be
DT DR P

However, regarding no9, if the 7wa - the meat of a noo 129
becomes XY we cannot be 077 DX PN,

Second, the X713 asks that the Xn92 goes on to refer to the
nRPIL as something that is 15531 9mi - has an exception to
the rule, but “wa nrmV is always TOR, without any excep-
tion?

1
- N -
790 Np nNw ow

DAt 592 A3 PN TINIYO NIPN

N0 ROV
=" M2

The Waﬂ concept o% Wl

7% /%efem‘ by pod PP
thaw other S

2

NI RYPANY
a2 NINIIAD 21 NOD

DTN D2 M N PINIYO D3P

RO RO
w2 w2

Other M OO
Z% the st or 20> Z% the 20>
became became il
We can be We cannot be
PID_E /')7/,( PIDE /)9/;

2

5551 9 AN RPN

RO N0
w3 wa

But9wa NNV

RPTTY

Mishkan
Yecheskel

N

Dedicated By: DafHachaim.org

Pesachim 62 - 3




mlaly =y glal-]

Again the X3 gives two answers:
TPID RP IRMIV DW PR - this part of the Xn»72 is talking about 1
xrmv of the people, but it still illustrates that the rules of

armv are different by noo j27p than by other mizap. - rx -
T8 Rp AN o
5591 M AN PSP
RO ROV
L =P P2
The rales 0% 3)/-7‘///
are /#erem‘ éyx PoS f372
WA IRV A9 RI’R YN - Another explanation is that
this line is also about 7wa nxMYV, and there is an exception to 2
the rule - when a oo 27 is brought ixmY3, even the meat NI PPN
that is X1V may be eaten.

"D AN TS

S501 9N AN DSP

RO DN
w3 w3

even the Ll meat

Ronw *27 wanted to learn pony 990 in three months, but 1
13Imy was hesitant to teach it to him at all because he was from
7 and lived in Xp7973, and he certainly wouldn’t learn it in
just three months because even i3, R’ Meir’s brilliant
wife, could not complete it in three years!

o JITI T AR NI NI 139
MDY *39 wanted to learn POMY 990
in THREE MONTHS

He was from 75
& lived in RYT93

Even 92, couldn’t complete it
in THREE YEARS!
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The pony 990 was so deep that

DIPYY MND 717121 1IN YW 12 WWN POMY 190 1113w 0r - from
the day it was lost the rabbis became weaker and their eyes 1’@”” 990
became dimmed. Within a one 19 span of 01’1727, the 790 was so deep that,

ponr had 400 camel loads of mw-7 that are now lost!
1YOMY 920 1A O
2vasm S ims wwn
Q'3 IND [N

7or one >0 o% ND 1233,
the prop) 290 had

400 camel loady o% ' /0>
that are now lost!

Second, Sxnw *37 asked nv '3 why when Shechting a 127p
noo -

MWH ROWI WY - it is D109, but when Shechting 55 R "
PHIIRG ROWI PoIND - it is Twa? NPW 727 asked 137’9
. i 9 points out four differences: Why when Shechting a 709 129p...

WS But.. PHMIN
b N POIND NN

FOUR DIFFERENCES:

First, mwh X5w is a 19131 5109 - a problem with the 1297 itself, o) PomIND
whereas the Y925 X>w is an external problem. WSO NO ; oD N
Second, when shechted mw5 5w WY there is no single part :

of the 129 that we can point to as being free of any problem, It's 1 reason -
but P53 R5w1 P3RS we can point to the portion of people Q//(;) Soo,
who are able to eat it, as being problem-free.
X117 holds that these first two differences are one and the No part can be Thuse people
same. The reason WY XYW is considered an inherent 509, is hichpart i identifi L who can eat i
because we cannot identify a single part as being problem- whachipar’ & a prob fm’/ L are problem %f*w
fros y glep gp pro blosny—{ree fiad 3 fad

U4 :
Third, mw5 X>w is a problem during all four mmay whereas AIFIRY VAR ool
PHIIRS ROV is only a problem during nomw. 1 Mé/ ¥ 07

. Fourth, mw? is a problem even for a 1123 1277 but 15185 RHW Y ¢ : Y*
is not a problem for a 1% j27p. a0 PP L Fpiac 23R
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The X3 is not satisfied with this explanation because it assumes
that 57 521 implies

1509 N5 7913 - it is 9100 only when all are 5.

However, 57 53 can also be understood as 57 11755 - implying
1509 757 NP - it would be 5109 even if only some are o57.
Then, the word nxt would teach

1509 N5 7913 - that it is 9100 only when all are 57, in both monw
and 2!

The Gemara on the next Daf will offer another explanation of the
127 RTOM 27 NPDND.
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So Let's Review...

In the previous 97 we learned:

AP 059D 12173907W NI Y PO 10N -

If a person Shechted the noo 1277 so that it should
be eaten by people who have a 013, but intended
the > for people who do not have a 72 - there
is a DRNOR NPOA:

9109 MR RTOM 27 -

R’ Chisda holds it is 5109,

W MWR T -

Rabbabh says it is 7.

The X3 gave one explanation of the npbmn, and
"WR 27 questioned it.

This q7 begins with a second explanation:
359MP RIP IRA1IWR 27 IR RON -

Rav Ashi explains that they disagree in how to
Darshen the Posuk:

5 399515 mx -

which speaks about all Korbonos in general, and
says that 771 achieves 19> for the owner of the
1279p. We Darshen

10 5y RO PHY -

The 1299 would be 5109 if 7t was done

53 w1 - for somebody else.

117 holds it is 9109 only if

T RMDITIVIAN -

The other person is like him - a 719591 - able to
bring the same type of j27p.

But it would be 7w> when doing 73 for an >y
who is not a 7993 72 like him, since he cannot bring
anoojap.

R70M 27 holds that it is 9109, because the 57 is
considered a 719373,

WO PN "V RT YN -

Since he can get a 721 72 and be eligible to bring
anoojap.

Even though X701 29 does not hold of the concept
of »rin with regard to a person cooking on 210 oy
for a weekday, where he does not allow it based on
5t DAMR YHPR R PRIN - that guests might
come?

The Gemara answers that he does not rely on >xin
X975 - to be lenient, but

72 R R - in order to be 1M, as in our case,
he holds of >~

K125 237 7772 RION W Y ION -

The X712 on the previous Daf said that just like
we already know nxm© nzpn is not ,109, so too
157 nzpw is not ,109 for a oo 127p - therefore, if it
is Shechted for a group that contains both
circumcised and uncircumcised people it is Tw>.
The nxmv n3pn of the X772 cannot be talking
about

»23 NROW - where part of the group of the 127p is
N1V, because that 757 is no more obvious than the
1957 about 57 nxp».

WA NRMVI RO - the IRMVL N3P refers to where
part of the meat of the j29p became x»v and the
rest of the j29p is MV, and we burn only the part
that's XV, and the rest of the Korbon is qw>.

The X103 asks two questions on this from the
rn1itselfand gives two answers to each
question:

First, the Xm) asks that the Xn12 goes on to say
that the NN issue is

D'N217 59233 10N - does not apply to all mia7p, but
w1 nrmv DOES apply to all miaap?

Therefore, we must say that ©'nam 532 331K is
referring to 723 NV - which means that

PIN2IR PRown RV HIY 0NN 593 -

Regarding all Korbonos, they can send their
Korbonos with others even though they will not be
able to eat from them, because the main purpose of
the Korbon is 7193 not 7158 However,

TP PRSWH PR RV STV 101 -

Regarding no, they cannot send their Korbonos
with others BECAUSE they will not be able to eat
from them, because the main purpose of the
Korbon is 7598 not 7702,

23 NRPIV RO'DY TWA DRIV RW*?

I RP IRV DV - PR -

Ravina answers: Yes indeed,

RPIL N3PY is referring to w1 nrML, and

D'N217 502 mM3 IR is referring to 323 R,

and they relate to each other because the xn»971is
just making the point that the general concept of
rmw is different by noo 127p than it is by other
map.

WA NNV I ROD RIVR IPYIRI -

Another explanation is that

D'N217 502 3mM3 N is also referring to Twa nrm.
Because in a way 7wa nxmv does not apply to all
mIa7p as it does to noo 127p.

In all Korbonos if of the 251 and 7w3, one of them
became Xnv - if the other is 11770, regardless of
which one, we can be 077 NR P,

However, regarding no9, if the 7wa - the meat of a
noo 1277 becomes XYV we cannot be D77 IR PN,

Second, the X3 asks that the xn72 goes on to
refer to the nRMIL as something that is 151 9mn -
has an exception to the rule, but Jwa N is
always WOR, without any exception?

Again the X3 gives two answers:

TIDRP IRV DW PR - this part of the X2 is
talking about nxmv of the people, but it still
illustrates that the rules of v are different by
noo 129p than by other niap.

WA NRPIVI 7919 KR PYRI - Another explana-
tion is that this line is also about w2 nrmv, and
there is an exception to the rule - when a noo j27p
is brought iR, even the meat that is XY may
be eaten.

The 97 concludes with a story of "Ronw 7 and
1y that teaches two primary points:
First - 3 37 0mnp5 ROR ORODW 127 -
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Ropw '27 wanted to learn pony 790 in three
months, but 137y "1 was hesitant to teach it to him at
all because he was from m5 and lived in Ry777%;,
and he certainly wouldn't learn it in just three
months because even 7173, R’ Meir's brilliant
wife, could not complete it in three years!

The ponr 790 was so deep that

IR A7 TN SV J19 YWD PONY 100 AW 0D
oY - from the day it was lost the rabbis became
weaker and their eyes became dimmed. Withina
one 79 span of 01’71 7127, the pony 190 had 400
camel loads of mwn7 that are now lost!

Second, ">rnpw 17 asked pnv '3 why when
Shechting a nos j27p -

WMWY ROV MW - it is 9109, but when Shechting
PHIIRS ROWI PHIRY - it is WwI?

137 "3 points out four differences:

First, mwb X5w is a 19132 5709 - a problem with the
1297 itself, whereas the P52185 X5w is an external
problem.

Second, when shechted mw5 X>w1 mwwH there is no
single part of the j27p that we can point to as being
free of any problem, but v52185 R5w1 Y52IRS we can
point to the portion of people who are able to eat it,
as being problem-free.

r117 holds that these first two differences are one
and the same. The reason mw5 X>w is considered
an inherent %109, is because we cannot identify a
single part as being problem-free.

Third, mw X>w is a problem during all four mmay
whereas Y5985 X>w is only a problem during
ToTY.

Fourth, mw" is a problem even for a 1123 123 but
152185 ROW is not a problem for a M3 129p.

P RS NP RO 139

IO 737 wanted to learn POMY 990
in THREE MONTHS

He was from 7>
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Even 193, couldn’t complete it
in THREE YEARS!
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